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2.5 One-Dimensional Motion with Constant Acceleration

12.)  Write the formula with the given terms: final velocity, initial velocity, acceleration, and
time.

13.) Solve each.

a) Find the final velocity with the following parameters.
v, = 40.0m/s a =2.00m/s*> t = 12.0s

b) Find the final velocity with the following parameters.
v, = 280m/s a = 3.50m/s*> t = 4.50s

c) Find the initial velocity with the following parameters.
v, = 16.0m/s a = 1.50 mls> t = 6.00s
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d) Find the acceleration with the following parameters.
v, =240m/s v, = 180m/s t = 3.00s

14.)  Write the formula for average velocity (with constant acceleration).
15.) If the acceleration is constant, find the average velocity under each of the following
=i qveldays Vet
conditions:

a) v, =33.0mls v, = 15.0m/s

vf = 60.0m/s v, = 72.0 m/s
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18.)

16.)

17.)

Write the formula with the given terms: final position, initial position, final velocity,
initial velocity, and time.
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Find the final vetecity under each of the following conditions:

a) v, =260mls v, = 140m/s x; = 450m t = 4.00s
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b) v, = 16m/s v, = 28m/s x; = 80m t = 65

Write the formula with the given terms: final position, initial position, acceleration,
initial velocity, and time.



19.)  Find the final position under each of the following conditions:

a) x; =520m v, = 850m/s a = 2.00m/s* t=8.00s
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b) x;, =240m v, = 125m/s a = 3.50m/s> t = 6.00s

c) x; =350m v, = —2.50mls a = 4.00m/s> ¢t =3.00s

20.) Write the formula with the given terms: final position, initial position, acceleration,
initial velocity, and final velocity.
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21.)  Find the final wadmseity under each of the following conditions.

a) x; = 30.0m vy = 100m/sv = 15.0m/s a = 2.00 m/s>
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